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1p 26 What is the point made about synchronisation in paragraph 6? 
A It can be more difficult to achieve than previously assumed. 
B It is considerably easier to detect in a controlled environment. 
C It is often overlooked in the analysis of empirical research. 
D It will take place regardless of how many factors are in play. 
 

1p 27 Which of the following fits the gap in paragraph 7? 
A Consequently 
B Indeed 
C Instead 
D Nevertheless 
 
 

Tekst 9  The future of diversity 
 
‘a personal trainer whose success on Instagram has landed him magazine 
coverage’ (paragraph 1) 

1p 28 What is the function of this remark? 
Andray Domise wants to make clear that his friend 
A fits the profile of a hipster venue regular perfectly. 
B had been the topic of negative attention before. 
C had trouble finding an audience for his account. 
D wears a gym outfit to stress his professionalism. 
 

1p 29 Which of the following sentences fits the gap in paragraph 2? 
A the debate seems to lack transparency 
B the discussion reaches a dead end 
C the issue takes on a new meaning 
D the mainstream media have a field day 
 

1p 30 How does Andray Domise present the behaviour of ‘a group of public-
service employees’ (paragraph 3)? 
A as conscientious 
B as discreet 
C as hypocritical 
D as irrational 
E as quick-tempered 
 

1p 31 Which of the following becomes clear about Maxime Bernier in  
paragraph 4? 
A He believes education can help eradicate racist tendencies. 
B He is an activist who organises rallies against the government. 
C He is an opponent of positive discrimination policies. 
D He is convinced that there is no such thing as police brutality. 
E He thinks that society suffers from systemic racial bias. 
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‘racialized people who speak up about racism will most often be punished 
for pointing it out’ (alinea 5) 

1p 32 In welke zin in de tekst is dit mechanisme voor het eerst genoemd? 
Citeer de eerste twee woorden van deze zin.  
 
‘people who speak up about racism will most often be punished for 
pointing it out while the original infraction goes unresolved’ (alinea 5) 

2p 33 Geef aan of de volgende citaten voorbeelden zijn van een ‘original 
infraction’. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 ‘demand an apology from the shop’s management’ (alinea 1) 
2 ‘openly sharing our own lived realities’ (alinea 2) 
3 ‘repeated traffic stops by Toronto police’ (alinea 3) 
4 ‘circulating an article explaining the soft bigotry of the ‘colour-blind’ 

ideal’ (alinea 4) 
 

1p 34 Which of the following fits the gap in paragraph 6? 
A Once 
B Since 
C Though 
D Until 
 
 

Tekst 10   
 

1p 35 What qualities does the main character look for most in a builder, judging 
from lines 1 to 31? 
A amiability and neatness 
B dependability and inconspicuousness 
C flexibility and resourcefulness 
D respectability and loyalty 
 

3p 36 Geef aan of de volgende beweringen over de hoofdpersoon 
overeenkomen met de inhoud van de tekst. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 He dislikes having to do a computer search because he is insecure 

about his digital competence. 
2 He is a germaphobe who feels the need to obsessively clean 

everything touched by visitors. 
3 He seems to want to limit contact with the outside world.  
4 He finds the fact that Mr Cooper replied to his email straightaway 

disconcerting. 
5 He has been chosen by his neighbours to act as a mediator in case of 

conflicts. 
6 He thinks that Mr Cooper will fail to finish the task in the time-slot that 

they have agreed upon. 
 


